Békés-Bihar, viharsarki tekergés

/települések, útvonal/

1.
(Debrecen v.á. – 10,8 –) Vekeri pihenő – 6,6 – Bánk – 15,4 – Kepecs-tag (Újlétától délre) – 14,2 – Álmosd – Kokad – 9,7 – Létavértes
azaz: 45,9   (Kepecs-tag – 5,8 – Újléta – 8,0 – Vámospércs – 11,0 – Bagamér – 3,7 –    Álmosd: 60,2)
2.
Létavértes – 15,4 – Pocsaj – 5,3 – Kismarja – 7,4 – Nagykereki – 10,8 – Hencida – 3,0 Gáborján – 3,5 - Szentpéterszeg – 8,2 – Berettyóújfalu – 8,8 – Bakonszeg – 9,3 – Zsáka – 1,2 - Furta – 13,0 – Komádi
azaz: 86,4 

3.

Komádi – 5,0 - Magyarhomorog – 3,0 – Körösszakál – 5,6 – Körösnagyharsány – 6,3 – Biharugra – 18,0 – Geszt – 5,0 Mezőgyán – 17,4 – Okány – 11,0 - Sarkadkereszúr – 8,0 – Sarkad – 16,0 - Gyula
azaz: 93,3
4.

Gyula – 11,0 – Doboz – 10,0 – Tarhos – 9,0 – Békés – 11,0 – Mezőberény – 13,6 – Bélmegyer – 12,0 – Vésztő-Mágor – 10,5 - Vidratanya – 5,5 – Szeghalom
azaz: 82,6

5.

Szeghalom – 9,5 – Körösladány – 13,0 – Dévaványa – 6,9 – Réhelyi bemutató közp. – 8,4 – Ecsegfalva – 19,8 – Túrkeve – 15,6 - Mezőtúr
azaz: 73,2   ( Körösladány – 24,8 – Gyomaendrőd – 14,8 – Dévaványa: 98,8)
6.

Mezőtúr – 8,3 –Peresi bemutatóház – 18,1 – Szarvas – 16,6 – Örménykút – 4,8 - Kardos – 8,0 – Kondoros – 15,6 -  Nagyszénás
azaz: 71,4
7.

Nagyszénás  – 6,5 – Gádoros – 8,0 – Árpádhalom – 8,3 – Nagymágocs – 13,4 - Orosháza – 13,3 – Pusztaföldvár - 7,0 – Csanádapáca – 6,0 - Csabaszabadi – 8,0 – Újkígyós – 4,8 – Szabadkígyós – 13,0 - Békéscsaba
azaz: 88,8

ÖSSZESEN:  
45,9+86,4+93,3+82,6+73,2+71,4+88,8 = 541.6 (+14,3+26,6= 582,5)
